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001 
(·ENTRY POINT A I 
THIS MAP SHOULD NOT BE ENTERED UNLESS AN 
ERROR HAS OCCURRED WHILE EXECUTING 
SYSTEM TESTi AND THEN ONLY ~HEN THE 
DEVICE TYPt FIELD IS EQUAL TO HEXADECIMAL 
'FC'. 

DOES RTN = 0000 ? 
N 

88Es RTN = 0001 ? 
y N 

003 
DOES RTN = 0002 ? 

N 

004 
DOES RTN = 0003 ? 
y N 

005 
DOES RTN = 0004 ? y N 
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A B C D F 

COPYRIGHT IBM CORP 1976 
REVISED 1979 
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MAP FCE0-1 
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PEC------­
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~g~S RTN = 0005 ? 

j xo~OT VALID COMMAND WAS EXECUTING. 
GO TO PAGE 5.z. STEP 040, , 
ENTRY POINT ts. 

08 
DOES CKPT = 0000 ? y N 

009 
A COMMAND TO CAUSE A DELAYED COMMAND 
REJECT WAS EXECUTING. 
WSPECT ISB 
BITS 0-7 IS THE EXPECTED DATA. 
INSPECT DEV4 
BITS 0-7 IS THE ACTUAL DATA. 
BITS 8-15 IS THE DEVICE ADDRESS. 

AlOCOHMAND TO CAUSE A DCB SPECIFICATION 
CHECK WAS EXECUTING. 
INSPECT IS8 
BITS 0-7 IS THE EXPECTED DATA. 
INSPECT DEV4 
BITS 0-7 IS THE ACTUAL DATA. 
BITS 8-15 IS THE DEVICE ADDRESS. 

11 
DOES CKPT = 0000 ? 

jy ;l~IAGNOSTIC COMMAND TWO EXECUTED. 
INSPECT DEV4 
BITS 0-7 IS THE EXPECTED DATA. 
BITS 8-15 IS THE ACTUAL DATA. 

13 
A DIAGNOSTIC COMMAND TWO WAS EXECUTING. 
GO TO PAGE 5, STEP 040, ENTRY POINT 8. 

14 
DOES CKPT = 0000 ? 
y N 

015 
DOES CKPT = 0001 ? 
y N 

016 
DOES CKPT = 0002 ? 

N 

017 
DOES CKPT = 0003 ? 
y N 

018 
DOES CKPT = 0004 ? y N 

3 3 3 3 3 3 
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~19 
DOES CKPT = OOOS ? 
y N l 020 

A DATA COMPARE ERROR. 
INSPECT DEV4 
BITS 0-7 IS THE EXPECTED DATA. 
BITS 8-lS IS THE ACTUAL DATA. 

21 
BYTE MODE ERROR. 
INSPECT DEV4 
BITS 8-lS IS THE ACTUAL DATA. 

22 
A DOMAIN ADDRESS ERROR. 
INSPECT DEV4 
BITS 0-7 IS THE ADDRESS EXPECTED. 
BITS 8-lS IS THE ADDRESS RECEIVED. 

A2~HECKSUM ERROR. 
INSPECT DEV4 
BITS 0-7 IS THE CHECKSUM EXPECTED. 
BITS 8-lS IS THE CHECKSUM RECEIVED. 

24 
A CHECKSUM ERROR. 
INSPECT DEV3 
BITS 0-lS IS THE CHECKSUM EXPECTED. 
INSPECT DEV4 
BITS 0-lS IS THE CHECKSUM RECEIVED. 

2S 
A CHECKSUM ERROR. 
INSPECT DEV3 
~~!~EgT1~E¢~ THE CHECKSUM EXPECTED. 
BITS 0-lS IS THE CHECKSUM RECEIVED. 

26 
A DIAGNOSTIC ONE COMMAND WAS EXECUTING. 
GO TO PAGE S, STEP 040, ENTRY POINT B. 
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27 
DOES CKPT = 0000 ? 
y N 

028 
DOES CKPT = 0001 ? 
y N 

029 
OES CKPT = 0002 ? 

N 

030 
DOES CKPT = 0003 ? 

N 

¥~~ RESIDUAL ADDRESS IS IN ERROR. 
INSPECT OEV4 
BITS 0-lS IS THE RESIDUAL ADDRESS 
EXPECTED. 
INSPECT RSAD 
BITS 0-lS IS THE RESIDUAL ADDRESS 
RECEIVED. 

32 
A CYCLE STEAL STATUS COMMAND WAS 
EXECUTING. 
GO TO PAGE Si STEP 040, 
ENTRY POINT ts. 

t~~ RESIDUAL ADDRESS IS IN ERROR. 
INSPECT OEV4 
BITS 0-lS IS THE RESIDUAL ADDRESS 
EXPECTED. 
INSPECT RSAD 
BITS 0-lS IS THE RESIDUAL ADDRESS 
RECEIVED. 

A34cYCLE STEAL STATUS COMMAND WAS 
EXECUTING. 
GO TO PAGE Si STEP 040, 
ENTRY POINT ts. 

~3~IAGNOSTIC ONE COMMAND WAS EXECUTING. 
GO TO PAGE Si STEP 040, 
ENTRY POINT ts. 

I 36 
DOES CKPT = 0000 ? 
y N I i3~REPARE WAS EXECUTING. 

GO TO PAGE Si STEP 040, 
ENTRY POINT ts. 

38 
A RESET DEVICE WAS EXECUTING. 
GO TO PAGE S, STEP 040, ENTRY POINT B. 

I 39 
ERROR ON READ ID. 
INSPECT DEV3 
BITS 0-lS IS THE ID EXPECTED. 
INSPECT DEV4 
BITS 0-15 IS THE ID RECEIVED. 
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( EtlTRY POINT B) 
DOES I0=07 ? 
y H 

8~is 10=06 ? 
H 

042 
DOES IO=OS ? 
y H 

043 
DOES I0=03 ? y H 

044 
DOES I0=02 ? 
y H 

6 6 6 6 6 6 
NP QR ST 
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45 
DOES IO=Ol ? 

ly ;~~ICE HOT ATTACHED. 

47 
DEVICE BUSY. 

48 
BUSY AFTER RESET. 

49 
COMMAND REJECT. 

so 
INTERFACE DATA CHECK. 

cBhTROLLER BUSY. 
52 

DOES IN=02 ? 
N 

053 
DOES IN=07 ? 

N 

054 
DOES IN=06 ? 
y N 

055 
DOES IN=04 ? 

ly g3~TROLLER END. 

57 
ATTENTION. 

58 
ATTENTION AND EXCEPTION. 

59 
ATTENTION AND DEVICE END. 

60 
IS BIT 0 OF THE ISB OFF ? 

N 

~~ 1BIT 2 OF THE ISB OFF ? 

l ~¥ CORRECT LENGTH ERROR. 

I~3DEV1 EQUAL TO FFFF ? 
N 

¥~~ ERROR BITS IN CS-2 ARE AS FOlLOWS. 
BIT 0 : OVERRUN. 
BIT I = TIMEOUT. -
BIT 2 = DCE INTERFACE ERROR. 
BIT 3 = BLOCK CHECK ERROR. 
BIT 4 = MULTI-POINT TRANSMIT ERROR~ 
ARE ALL OF THE BITS 0-4 IN CS-2 OFF r 
y N 

-1 ~~~PECT CS-2 FOR ERROR BITS. ANAL TZE BITS 0-4 FOR ERROR INFORMATION. 
66 

( ENTRY POINT D > 
THIS MAP CANNOT DETERMINE THE PROBLEM. H 
USE THE ERROR OUTPUTi YOU HAVE BEEN USI G 
FOR THIS MAPi AS YOU~ ERROR INDICATIONS 
AND GO TO HA~ 0070 ENTRY POINT A. 
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SYNCHRONUS COMMUNICATIONS SINGLE 
LINE CONTROLLER/HIGH SPEED. 

~~f ·1~~o~v~~~~N~N CS-2 ARE AS FOLLOWS. 
BIT : ABORT. 
Rlf ; ~~~~KF~A~~K ERROR. 
BIT 4 = TIMEOUT. 
BIT 5 =IDLE DETECT. 
BIT;6 =NON PRODUCTIVE RECEIVE. 
BIT 7 : DCE INTERFACE ERROR. 
¢RR ALL OF THE BITS 0-7 IN CS-2 OFF ? 

:J ·l~!r~~l ~¥ri 6~~ ~~~o~RB~~siNFORMATION. 
69 

'GO TO PAGE 6, STEP 066, ENTRY POINT D. 
70 ' 

·1SNBIT ~ OF THE ISB OFF ? 

8ll.AYED COMMAND REJECT. 
72 

:jlS:::T 2 OF THE ISB OFF ? 

NOT:COR~ECT LENGTH ERROR • 
. 74 . 
'!ISNBIT ~ OF THE ISB OFF ? 

'075 
'DCB SPECIFICATION CHECK. 
76' llSNBIT 4 OF THE ISB OFF ? 

077 
STORAGE DATA CHECK. 

II~:::T 5.0F THE ISB OFF? 

NOT VALID STORAGE ADDRESS. 

II~~~E~O~~~-ISB OFF 1 

82 

1·;;;:.:.:: ~:.'~.~: ' 
I ~~TRY POINT CJ llSNBIT 0 OF THE FLAGS OFF ? 

085 
NOT EXPECTED INTERRUPT. 

86 IISNBIT 5 OF THE FLAGS OFF ? 

087 
WRONG INTERRUPT LEVEL. 

88 . 

IISi;;: :;:R:::T:LAGS OFF ? 

90 
PROTECT CHECK. 
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